Naples Classic Car

DEAL# 01272 PURCHASE TAG TRANSFER TAG METHOD OF PAYMENT UEASE OUTSIDE LIEN

2630 Pine Ridge Rd. Naples, FL 34104 239-302-5400 www.NaplesClassicCar.com

/AX e

NAME_	
NAME_	
ADDRES	

INSURANCE COMPANY		GENTS NAME		PHONE NUMBE	EA	- 1 to 3.47	POLICY	UMBER	
1972	Ferra	ri	Dino 2	246GTS	BODY TYP	2Dr.		21,229	Burgund
04136			STOCK NO.		11.对人作。		MA TO	TO BE DELIVERS	
LEASE TERM	MLES PER YEAR	CAR CASH	REDUCTION	MONTHLY PAYM	ENT	MSRP	S 1 1 1 1 1	PRICE OF VEHICE	100,000.00
ADDITIONAL OR CHANGES	<b>建设设置</b>	TANKALI.	Saffer in		1 1 m	don't have	1. J. A.	the state	
Vehicle will b	e restored to	o bespoke sr	pecs as i	per custor	mer rec	uest	8 1, 15	3.2%	
Restoration v							e faith.		
	40年表现	<b>以为是一类</b> 的			d seguino			The Marie	
St. But Line				Harris San Market	Service.		堂。\$1	The Addition	
P. M. Marie		A Company of the Comp			M. M.	Min Diffe			
Was and the	和古 一说证明	THE WAR	<b>电影</b>	11 14 1	1824	de Vislai		1	<b>生产基本</b> 定
			£10.5%						
A STATE OF THE STA			9694 75	A CARREST MA	AND DE		1 1 2 1 3		

\*\*VEHICLE IS SOLD AS IS - NO WARRANTY IS PROVIDED UNLESS NOTED ON SALES CONTRACT\*\*

USED VEHICLE TRADED IN OR OTHER CREDITS		USED CAR ALLOWANCE	\$0.00	
TEAR	MAKE	MODEL	SUB-TOTAL SUB-TOTAL	\$100,000.00
BODY TYPE	COLOR	MLES	FLORIDA TIRE + BATTERY FEE	\$6.50
SERIAL NO.		ACV	DEALER SERVICES	\$499.00
BAL OWED		GOOD TILL	TAXABLE BALANCE	\$100,505.50
BAL OWED TO		· 公生 · 1970 年 公里年	SALES TAX - 6%	OUT OF STATE
ACCOUNT	14.50 特性学的技术	TELEPHONE #	COUNTY SURTAX	\$0.00
This charge regressrits o	one and profits to the substitute for it	proc such as proposation of decuments, affidirel	PAYOFF DUE ON TRADE-IN (ADD)	\$0.00
notary services, and all other handling services connected with sels, financing and precenting.  Any warrandow on the product said harsby are those made by the manufacturet. The selfer harsby expressly disclaims all warrandom, other express or implied, including any implied warranty of manchantability or finance for a postrocker purposes, and solder motives expresses or advisorance warrandom assumes for it advisors or a postrocker purposes, and experience processes are all subsite to		LICENSE PLATES OR TRANSFER	\$0.00	
		■ITE DE SECONDE SECONDO SECONDO DE LA CONTRACTOR DE LA C	\$0.00	
connection with the sale			CASH BALANCE DUE	\$100 505 50

VEHICLE NOT INTENDED FOR EXPORT.

**PURCHASER X** SALESMAN NAME

ACCEPTED BY

(775) 356-7389 (775) 356-7463 - Fax

# **Invoice**

www.intrepidracing.com

	Date	
	5/31/21	A.
	Invoice #	N.
44	115913	

Bill To

Customer Phone

141	ileage	Vehicle Make	Model	Year	License #	Vin#	
2	1,253	Dino	246GTS	1972	34J3	04136	
Qty	it	tem Code	Descript	ion		Price Each	Amount
2.5	Labor - S	hop	Test drove car and looked over. Put list of things needed.	car up on rac	ck. Started on	125.00	312.50
5	Labor - S	hon	Checked engine on scope. Worked	n half shaft	ssue	125.00	625.00
4			Changed main jets, idle jets.		osuc.	125.00	500.00
7			Worked on halfshafts. Removed all Remove and inspect accelerator pun			125.00	875.00
1.5	Labor - S	hop	Assemble halfshafts from other Dino Dino.			125.00	187.50
	A SPECIAL						2,500.00
	Shop Sup	plies	Shop Supplies			2.00%	50.00T
1	Parts		12-Volt Battery charger kit			150.50	150.50T
6	73405.12	0	Main jet		5.77	34.62T	
6	[1] - [1] -		Main jets			5.77	34.62T
6	73405.05	5	Idle jets			6.10	36.60T
6	74405.05	(집 ) (교육시간 (경우) 그렇게 보는 건강 등 시간 중심하다.	Idle jet			6.10	36.60T
3	14852.01	그렇게 하는 아름이 살아지는 것은 없이 그리고 없었다.	Accelerator Pump Cam			40.04	120.12T
1	Freight -		Freight for jets and accelerator pum	o cam		25.28	25.28T
1	20284006		RH front quarter glass/frame			1,050.00	1,050.00T
1	20284105		LH front quarter glass/frame			1,050.00	1,050.00T
2	20096805		Vent window latch assembly LH/RI		to Park the	175.00	350.00T
1.1	Freight -	In	Freight for quarter glass and latches		W. William	35.00	35.00T 0.00
1	Outside L	abor	Replace accelerator pump diaphrage	ns and bench	test carburetors	287.50	287.50
3	47407355	5	Diaphragm			12.89	38.67T
1	Freight -	In	Freight for carbs			13.10	13.10T
			NV Sales Tax			8.265%	250.03

Total	\$6,062.64
Payments/Credits	\$0.00
Balance Due	\$6,062.64

(775) 356-7389 (775) 356-7463 - Fax

# **Invoice**

www.intrepidracing.com

	Date	
ľ	7/16/21	the state of
	Invoice #	
20	115932	10 CAST 10

Bill To

Customer Phone

Mi	ileage	Vehicle Make	Model	Year	License #	Vin#	
2	1,253	Dino	GTS	1972	34J3	04136	
Qty	Ite	m Code	De	scription		Price Each	Amount
3	Labor - Sho	op	Removed and cleaned half sha	afts Kaden and Ber	L	125.00	375.00
2	Labor - Sho	op	Assembled both halfshafts and	d mocked up in car		125.00	250.00
	Labor - Sho		Installed half shafts and cleaned			125.00	250.00
1.5	Labor - Sho	op .	Installed carburetors.			125.00	187.50
2.5	Labor - Sho	op	Hooked up carburetors and ad	justed.		125.00	312.50
7	7 Labor - Shop		Worked on doors, wing windo latch. Installed left halfshaft.	ows. Fixed passeng	er outer door	125.00	875.00
2.5	Labor - Sho	op .	Cleaned CV joints and assisted of half shafts.	d with disassembly	and assembly	125.00	312.50
6.5	6.5 Labor - Shop		Finalized passenger door wing outer door handle. Finalized d replacement. Removed distrib timing setting. Test drove, filled	rivers door wing w utor to adjust to ob	rindow	125.00	812.50
6.5	Labor - Sho	o <b>p</b>	Finalized tuning adjustments. ignition switch. Had rear whee and inner right rear fender wel	Rewired reverse ligels balanced. Instal	led engine cover	125.00	812.50
1	Labor - Sho	p	Repaired electrical connection	at drivers side kic	k panel light.	125.00	125.00
1	Labor - Sho	p	Removed parts for clear bra.			125.00	125.00
2	Labor - Sho	p	Reassembled car after clear bra	a.		125.00	250.00
							4,687.50
	Shop Suppl	ies	Shop Supplies			2.00%	93.75T
3	Heli Coil		5mm helicoil			3.50	10.50T
1	Fuel		Premium pump gas			39.00	39.00
1	580449		Dino Axle Shaft			420.00	420.00T
1	Freight - In		Freight for axle shaft			26.25	26.25T
1	Outside Lal	oor	Balance two loose wheels			30.00	30.00
10.00			NV Sales Tax			8.265%	45.50

Total	\$5,352.50
Payments/Credits	\$0.00
Balance Due	\$5,352.50

(775)	356-7389	
(775)	356-7463 - Fax	

# **Invoice**

www.intrepidracing.com

Section 1	Date	
	10/31/21	200
	Invoice #	
	18211	

Bill To	

**Customer Phone** 

М	ileage	Vehicle Make	Model	Year	License #	Vin #	
			328GTS	1986			
Qty	it	em Code	Des	scription		Price Each	Amount
Qty 1 1 2 1	Parts Parts Parts Parts Freight -		Model PB2 Red Fire Extinguis Model PB2 Gloss Black Fire E Model PB2B Bracket-flat mou Freight for Fire Extinguisher a NV Sales Tax	sher Extinguisher nt		302.40 302.40 173.60 23.07 8.265%	Amount  302.40T 302.40T 347.20T 23.07T 80.59

Total	\$1,055.66
Payments/Credits	\$0.00
Balance Due	\$1,055.66

(775) 356-7389	
(775) 356-7463	- Fax

#### **Invoice**

www.intrepidracing.com

	Date	200
1 1	11/30/21	
	Invoice #	1
let V	116045	1

Bill To						

#### **Customer Phone**

Mileage Vehicle Make 21,316 Dino		Vehicle Make	Model	Year	License #	Vin #	
		Dino	246GTS	04136			
Qty	I	tem Code	Des	scription		Price Each	Amount
3 2.5	Labor - S Labor - S		ear parking brake	125.00 125.00	375.00 312.50		
5	Labor - S	Shop	issue. Finalized rear brake calipers, b	oled brake system,	and test drove.	125.00	625.00
	Labor - S Shop Sup			125.00 2.00%	125.00 2.50T		
1 1 2 3	1 95691536 Kit Rear Brake Caliper and Rear Park Brake 1 Freight - In Freight for Kit Rear Brake Caliper and Rear Park Brake 2 Brake Fluid Castrol Brake Fluid				k Brake	350.00 10.87 9.95 5.95 8.265%	350.00T 10.87T 19.90T 17.85T 33.15
	7						

Total	\$1,871.77
Payments/Credits	\$0.00
Balance Due	\$1,871.77

(775) 356-7389 (775) 356-7463 - Fax

# **Invoice**

www.intrepidracing.com

	Date
J.	5/31/22
1916	Invoice #
1	116157

Bill To	

Customer Phone

Mi	leage	Vehicle Make	Model	Year	License #	Vin #	
		Dino	246	1972			
Qty		tem Code	Des	cription		Price Each	Amount
4 1	FR24614 Freight -	3 In	Stainless steel hub cap Freight for hub cap NV Sales Tax			680.40 17.00 8.265%	2,721.60T 17.00T 0.00 226.35

Total	\$2,964.95
Payments/Credits	\$0.00
Balance Due	\$2,964.95